
SCALA

Rel. 2012-01301711

COFFEE MACHINES

Spare parts for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.

This document may not include universal spare parts

Suitable for:



GROUP CARMEN

Positions without LF code no.: upon request

pg.    2

SCALA 



Position LF code no. Description

pg.    3

SCALA 

   1 1439001 CAP ø 16 mm FOR BREW GROUP

   2 1186326 TEFLON FLAT GASKET ø 22x16x2 mm

   3 1160517 WATER FILTER ø 8.5x22 mm

   4 1501522 NOZZLE M6x1 HOLE ø 0,75 mm

   5 1027016 UPPER CHROMIUM-PLATED SLEEVE

   6 1186591 O-RING 0128 VITON

   7 1186307 TEFLON FLAT GASKET ø 36x30x2 mm

  10 1186384 COFFEE GROUP GASKET 80x70x2 mm

  11 1186611 O-RING 02025 RED SILICONE

  11 1186612 O-RING 02025 VITON

  12 1455034 S/S SCREW T.C.C.E.I M4x10 UNI 5931

  13 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

  13 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

  14 1186307 TEFLON FLAT GASKET ø 36x30x2 mm

  15 1186327 O-RING 03081 EPDM

  16 1324024 INFUSER SPINDLE

  17 1250548 INFUSION SPRING ø 11x58 mm

  18 1027018 OUTLET CHROMIUM-PLATED SLEEVE

  19 1501561 GROUP SPRAY NOZZLE ø 30 mm M10x1

  20 1081016 SHOWER SCREEN ø 60 mm

  21 1186721 FILTER HOLDER GASKET ø 74x57x8 mm

  22 1192003 BREW GROUP E61 LH

  23 1192002 BREW GROUP E61 RH

  26 1165022 FILTER HOLDER COFFEE MACHINES

  27 1241504 FILTER HOLDER HANDLE M12

  28 1160339 BLIND FILTER

  29 1160252 2-CUP FILTER 12 GRAMS

  29 1160337 2-CUP FILTER 14 GRAMS

  30 1160251 1 CUP FILTER 6 g

  30 1160335 1 CUP FILTER 7 g

  31 1250101 FILTER BLOCKING SPRING ø 1,00 mm INOX

  32 1022521 LONG DOUBLE SPOUT ø 3/8"

  33 1022501 SINGLE SPOUT ø 3/8"



WATER-STEAM TAPS GROUP

Positions without LF code no.: upon request

pg.    4

SCALA 



Position LF code no. Description

pg.    5

SCALA 

   1 1348056 WATER/STEAM TAP

   2 1241321 WATER/STEAM TAP HANDLE

   4 3389013 STAINLESS STEEL PIN ø 2x12 mm UNI 1336

   5 1241322 STEAM CAP FOR KNOB

   6 1241045 WATER CAP FOR KNOB

   7 1348840 WATER TAP

   7 1348841 STEAM TAP

   8 1186442 BLIND GASKET ø 12x5.8 mm SILICONE

   9 1324066 TAP SPINDLE

  10 1250415 TAP SPRING  ø 10x32 mm

  11 1186244 SPRING BUSHING

  12 1186611 O-RING 02025 RED SILICONE

  14 1349504 NUT FOR TAP ø 1/2"

  15 1186201 TEFLON FLAT GASKET ø 21x16.8x2 mm

  17 1250151 SPRING ø 12x15 mm

  18 1528018 WASHER ø 14x6.5x0.5 mm

  19 1186346 O-RING 02043 EPDM

  20 1186378 CONICAL TEFLON SEAL ø 14x7x6 mm

  21 1449049 STAINL.STEEL COMPLETE STEAM PIPE ø 10 mm

  22 1449050 WATER PIPE COMPLETO

  23 1523561 EXPANSION VALVE ø 1/4"M

  24 1455034 S/S SCREW T.C.C.E.I M4x10 UNI 5931

  25 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

  25 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

  26 1186611 O-RING 02025 RED SILICONE

  26 1186612 O-RING 02025 VITON



LEVEL GAUGE ASSY

Positions without LF code no.: upon request

pg.    6

SCALA 



Position LF code no. Description

pg.    7

SCALA 

   3 1186318 O-RING 03043 EPDM

   4 1186448 LEVEL GLASS WASHER

   6 1520006 LEVEL GLASS ø 11x154 mm SILK-SCREEN PRIN

   8 1186619 COPPER FLAT GASKET ø 18x14x1.5 mm

  12 3221097 NEUTRAL INDICATOR LAMP 220V

  13 3221194 GREEN NEON INDICATOR LAMP 220V



BOILER AND MISCELLANEOUS

Positions without LF code no.: upon request

pg.    8

SCALA 



Position LF code no. Description

pg.    9

SCALA 

   2 1186445 ROUND COPPER GASKET ø 26x21.4x2 mm

   3 1341750 LEVEL PROBE ø 1/4"M-125 mm

   4 1523572 BOILER VALVE ø 3/8"M

   5 1523534 BOILER VALVE ø 1/4"M

   5 1523537 BOILER VALVE ø 1/4"M

   6 1186620 COPPER FLAT GASKET ø 22x17x1.5 mm

   8 1755040 HEATING ELEMENT 2200W 230V

   8 1755041 HEATING ELEMENT 3500W 230V

   8 1755045 HEATING ELEMENT 4500W 230V

   9 1186621 TRIANGULAR GASKET FOR HEATING ELEMENT

  11 1186619 COPPER FLAT GASKET ø 18x14x1.5 mm

  13 1455351 VOLUMETRIC FLOWMETER GICAR

  14 1341005 DOSER CONTROL BOX 1-2-3 GROUPS 240V

  15 1059001 SELECTOR SWITCH 0-2 POSITIONS 32A 600V

  17 1319104 BLACK BIPOLAR SWITCH 16A 250V

  18 1319100 BIPOLAR SWITCH 250V 16A

  25 1319099 PUSH-BUTTON PANEL 8 BUTTONS



Suitable for:

pg.   10

Suitable for:

SCALA 

Boiler safety valves

1523653 BOILER VALVE ø 1/2"M 1523652 BOILER VALVE ø 1/2"M  AUTO-CERTIFIED
calibration pressure 1,8 bar calibration pressure 1,8 bar

steam release 6.3 Kg/h steam release 6.3 Kg/h

    

SCALA  SCALA  

1523534 BOILER VALVE ø 1/4"M 1523537 BOILER VALVE ø 1/4"M
stainless steel - new model stainless steel - old model

    

SCALA  C-0451  SCALA  C-0451  

1523536 BOILER VALVE ø 3/8" M AUTO-CERTIFIED 1523572 BOILER VALVE ø 3/8"M
calibration pressure 1.8 bar calibration pressure 1,9 bar

steam release 6.3 Kg/h steam release 6,8 Kg/h

    

SCALA  SCALA  C-0452  

Booster pumps

1330002 ROTARY VANE PUMP ROTOFLOW ø 3/8" NPT 1349100 PUMP CONNECTION ø 3/8"CONIC-3/8" STRAIGH
clamp connection 3/8"CONICAL(NPT)-3/8"STRAIGHT

flowrate 200 L/h

equipped with balanced bypass

connection ø 3/8" conical NPT

PA204

    

SCALA  C-0521   

1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP

    



Suitable for:

pg.   11

Suitable for:

SCALA 

Caps

1439001 CAP ø 16 mm FOR BREW GROUP

    

SCALA  C-0317   

Coffee filters

1160600 ADAPTER FILTER FOR CAPSULES EP 1165181 BOTTOMLESS FILTER HOLDER BEZZERA
to match with the machine-brand specific wings 5.5 mm

bottomless filter holder

alimentary certification

for MODEL E61 GROUPS

for BEZZERA-BRASILIA-EXPOBAR-FAEMA-GRIMAC-MARZOCCO

SAB-SANREMO-SCALA-VBM-WEGA

    

SCALA   

1165035 BOTTOMLESS FILTER HOLDER BRASILIA 1165183 BOTTOMLESS FILTER HOLDER FAEMA
wings 5.5 mm wings 7.2 mm

    

1165186 BOTTOMLESS FILTER HOLDER MARZOCCO 1165188 BOTTOMLESS FILTER HOLDER VIBIEMME
wings 6.3 mm wings 6.2 mm

    

1165189 BOTTOMLESS FILTER HOLDER WEGA
wings 6.4 mm

    



Suitable for:

pg.   12

Suitable for:

SCALA 

1160339 BLIND FILTER 1160251 1 CUP FILTER 6 g

    

SCALA  C-0495  SCALA  C-0498  

1160335 1 CUP FILTER 7 g 1160252 2-CUP FILTER 12 GRAMS

    

SCALA  C-0499  SCALA  C-0500  

1160337 2-CUP FILTER 14 GRAMS

    

SCALA  C-0501   

Coffee groups

1192003 BREW GROUP E61 LH 1192002 BREW GROUP E61 RH

    

SCALA  SCALA  

1027018 OUTLET CHROMIUM-PLATED SLEEVE 1027016 UPPER CHROMIUM-PLATED SLEEVE

    

SCALA  C-0307  SCALA  C-0323  

Deflectors

1022521 LONG DOUBLE SPOUT ø 3/8" 1022501 SINGLE SPOUT ø 3/8"

    

SCALA  C-0530  SCALA  C-0529  



Suitable for:

pg.   13

Suitable for:

SCALA 

Drain hoses

1449271 DRAIN PIPE ELISPIR ø 14x20 mm - 30 m 1449671 DRAIN PIPE ELISPIR ø 14x20 mm - 5 m
alimentary alimentary

    

SCALA  C-0494  SCALA  C-0494  

Exchangers

1341005 DOSER CONTROL BOX 1-2-3 GROUPS 240V

    

SCALA  C-0147   

Filter holder gaskets

1186723 FILTER HOLDER GASKET ø 73x57x8.5 mm 1186721 FILTER HOLDER GASKET ø 74x57x8 mm
for CONTI XEOS with internal cuts

    

SCALA  C-0321  SCALA  

Filter holders

1165022 FILTER HOLDER COFFEE MACHINES
spout connection ø 3/8" - handle connection M12

wings 7 mm

for AURORA- BRASILIA-FAEMA-FUTURMAT-FIORENZATO

GAGGIA-GRIMAC-MAIRALI-LASCALA-VFA-VISACREM-WEGA

    

SCALA  C-0503   

Filters

1160517 WATER FILTER ø 8.5x22 mm

    

SCALA  C-0315   



Suitable for:

pg.   14

Suitable for:

SCALA 

Fittings

1349102 FITTING ø 1/4"M-1/4"M 1349111 FITTING ø 1/8"M 1/4"M

    

SCALA  R2  SCALA  R3  

1349103 FITTING ø 3/8"M-3/8"M

    

SCALA  R14   

Flowmeters

1455351 VOLUMETRIC FLOWMETER GICAR 1455033 CONNECTOR GICAR
connection ø 1/4"FF

    

SCALA  C-0201 SCALA  C-0215   

1455032 IMPELLER GICAR 1186631 O-RING 02112 VITON

    

3455333 VOLUMETRIC FLOWMETER COVER

    

Gas valves and accessories

1523561 EXPANSION VALVE ø 1/4"M 1186244 SPRING BUSHING

    

SCALA  C-0379  SCALA  



Suitable for:

pg.   15

Suitable for:

SCALA 

1348841 STEAM TAP 1348840 WATER TAP
conical connection ø 1/4" fitting ø 1/4" tapered

connection ø 3/8" fitting ø 3/8"

    

SCALA  SCALA  

1348056 WATER/STEAM TAP
for ECM MICHELANGELO-RAFFAELLO

for BFC LIRA-CLASSICA-MONZA

for ROYAL

for SANREMO MILANO-CAPRI-VENEZIA-SED

    

SCALA  C-0271   

Gaskets and seals

1186442 BLIND GASKET ø 12x5.8 mm SILICONE 1186508 COFFEE GROUP GASKET 77x73x2 mm
teflon

    

SCALA  SCALA  

1186384 COFFEE GROUP GASKET 80x70x2 mm 1186378 CONICAL TEFLON SEAL ø 14x7x6 mm
paper for water/steam pipe

    

SCALA  C-0301  SCALA  C-0274  

1186619 COPPER FLAT GASKET ø 18x14x1.5 mm 1186620 COPPER FLAT GASKET ø 22x17x1.5 mm

    

SCALA  C-0256  SCALA  C-0480  



Suitable for:

pg.   16

Suitable for:

SCALA 

1186591 O-RING 0128 VITON 1186611 O-RING 02025 RED SILICONE

    

SCALA  C-0324  SCALA  

1186612 O-RING 02025 VITON 1186346 O-RING 02043 EPDM

    

SCALA  C-0303  SCALA  C-0289  

1186318 O-RING 03043 EPDM 1186327 O-RING 03081 EPDM

    

SCALA  C-0257  SCALA  C-0309  

1186445 ROUND COPPER GASKET ø 26x21.4x2 mm 1186099 TEFLON FLAT GASKET ø 10x6x1 mm

    

SCALA  C-0376  SCALA  C-0325  

1186201 TEFLON FLAT GASKET ø 21x16.8x2 mm 1186326 TEFLON FLAT GASKET ø 22x16x2 mm

    

SCALA  C-0272  SCALA  C-0316  

1186307 TEFLON FLAT GASKET ø 36x30x2 mm 1186621 TRIANGULAR GASKET FOR HEATING ELEMENT
universal carbo

dimensions 80x80x2 mm - internal hole 40 mm

distance between the holes 58 mm

    

SCALA  C-0310  SCALA  C-0361  



Suitable for:

pg.   17

Suitable for:

SCALA 

Heating elements

1755348 HEATING ELEMENT 1350W 220V 1186500 ASBESTOS FREE FLAT GASKET ø 40x33x3 mm
immersed length 130 mm - 2 poles for heating element

fitting ø 1"

for BRASILIA SUPERAUTOMATICA ROBOSTAR

for VIBIEMME DOMOBAR

for LA SCALA BUTTERFLY

    

SCALA  C-0520   

1186627 CARBO FLAT GASKET ø 41x33x3 mm
of universal carbo

    

1755040 HEATING ELEMENT 2200W 230V 1755041 HEATING ELEMENT 3500W 230V
immersed length 135 mm - 6 poles immersed length 340 mm - 6 poles

distance between the holes 58 mm distance between the holes 58 mm

with bulb sheath - flange 77x77 mm with bulb sheath - flange 77x77 mm

for coffee machines with 1 group for coffee machines with 2 groups

    

SCALA  C-0353  SCALA  C-0356  

1755045 HEATING ELEMENT 4500W 230V
immersed length 540 mm - 6 poles

distance between the holes 58 mm

with bulb sheath - flange 77x77 mm

for coffee machines with 3 groups

    

SCALA  C-0358   



Suitable for:

pg.   18

Suitable for:

SCALA 

Inlet pipes

1449705 FLEX HOSE ø 3/8" Fc x Fc L.75 cm 1449703 FLEX HOSE ø 3/8" Fp x CFp L.200 cm
stainless steel coated stainless steel coated

external pipe ø 12 mm external pipe ø 12 mm

    

SCALA  C-0505  SCALA  C-0496  

Ironmongery (screws-nuts-washers-etc.)

1186448 LEVEL GLASS WASHER 1349504 NUT FOR TAP ø 1/2"

    

SCALA  C-0258  SCALA  

1455034 S/S SCREW T.C.C.E.I M4x10 UNI 5931 1528018 WASHER ø 14x6.5x0.5 mm

    

SCALA  C-0021M  SCALA  C-0270  

Jets / nozzles

1501522 NOZZLE M6x1 HOLE ø 0,75 mm
for brew group

    

SCALA   

Knobs

1241322 STEAM CAP FOR KNOB 1241045 WATER CAP FOR KNOB

    

SCALA  C-0283  SCALA  C-0295  



Suitable for:

pg.   19

Suitable for:

SCALA 

1241321 WATER/STEAM TAP HANDLE

    

SCALA   

Knobs for filterholder

1241504 FILTER HOLDER HANDLE M12

    

SCALA  C-0504   

Lamps

3221194 GREEN NEON INDICATOR LAMP 220V 3221195 GREEN LAMP CAP
ø head 9 mm

for series C-CR

    

SCALA  C-0262   

3319219 GREY SUPPORT 3221192 LAMP SUPPORT

    

3221097 NEUTRAL INDICATOR LAMP 220V
head ø 8 mm  - 120°C

    

SCALA  C-0263   



Suitable for:

pg.   20

Suitable for:

SCALA 

Nozzles for coffee groups

1501561 GROUP SPRAY NOZZLE ø 30 mm M10x1

    

SCALA  C-0318   

Pins

1324024 INFUSER SPINDLE 1324066 TAP SPINDLE

    

SCALA  C-0308  SCALA  

Pressure switches

1320531 PRESSURE SWITCH P302/6 3-POLES 30A
CE-SEV-ASE-UL approved

ISO 228 G connection 1/4"M for pipe ø 4x6 mm

adjustable scale 0.5÷1.4 bar

fixed differential 0.15 (ÿ 0.06) bar

fluid temperature max :140°C

max contact  load : 220V  7KW (30A)

400V 12KW (30A)

    

SCALA  C-0455   

Regulators and level sensors

1341750 LEVEL PROBE ø 1/4"M-125 mm 1341301 LEVEL REGULATOR NRL30/1E-2C/F 230V
230V 50/60Hz 5A

    

SCALA  C-0351  SCALA  C-0069  



Suitable for:

pg.   21

Suitable for:

SCALA 

Rotary switches

1059001 SELECTOR SWITCH 0-2 POSITIONS 32A 600V
square pin 5x5 mm

    

SCALA  C-0154   

Showers for brew group

1081516 SHOWER  ø 60 mm 1081016 SHOWER SCREEN ø 60 mm

    

SCALA  SCALA  C-0322  

Solenoid valves

1120354 2-WAY SOLENOID VALVE PARKER 230V 50/60Hz 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
VE146NV - fittings ø 1/4"FF - max 10 bar width 34 mm - height 33 mm

VITON sealing - orifice ø 2.5 mm depth 43 mm

with coil ZB09 9W 220/230V 50/60Hz

fluid temperature -10°C +140°C

    

SCALA  C-0207   

1120310 2-WAY SOLENOID VALVE SIRAI 230V 50Hz 1120008 COIL SIRAI ZA30A 9W 230V 50Hz
L121V02 - connections ø 1/4"FF - max 20 bar width 30 mm - height 39 mm

VITON seal - orifice ø 2.5 mm depth 41 mm

coil ZA30A 9W 230V 50Hz 14VA

    

SCALA  C-0210   



Suitable for:

pg.   22

Suitable for:

SCALA 

1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz 1120332 COIL LUCIFER 483510S6 220/240V 9W 50Hz
E131F4304 - drain ø 1/8" conical - max 10 bar width 32 mm - height 38 mm

RUBY seal - orifice ø 2.5 mm depth 43 mm

with coil 483510S6 9W 220/240V 50/60Hz

fluid temperature -40°C+140°C

    

SCALA  C-0304   

1120334 3-WAY MECHANICAL COMPONENT LUCIFER
E131F4304G - drain ø 1/8" conical - max 10 bar

RUBY seal - orifice ø 1.5 mm

fluid temperature -30°C+140°C

    

1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
VE128IR - drain ø 1/8" conical - max 10 bar width 34 mm - height 33 mm

RUBY seal - orifice ø 1.3 mm depth 43 mm

with coil ZB09 9W 220/230V 50/60Hz

fluid temperature -30°C+140°C

    

SCALA   

1120339 3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain ø 1/8" conical - max 10 bar

RUBY seal - orifice ø 1.3 mm

fluid temperature -30°C+140°C

    

Springs

1250101 FILTER BLOCKING SPRING ø 1,00 mm INOX 1250548 INFUSION SPRING ø 11x58 mm

    

SCALA  C-0502  SCALA  C-0311  



Suitable for:

pg.   23

Suitable for:

SCALA 

1250151 SPRING ø 12x15 mm 3389013 STAINLESS STEEL PIN ø 2x12 mm UNI 1336
for DISHWASHER AC

    

SCALA  C-0273  SCALA  C-0282  

1250415 TAP SPRING  ø 10x32 mm

    

SCALA   

Steam/water pipes coffee machines

1449049 STAINL.STEEL COMPLETE STEAM PIPE ø 10 mm 1449050 WATER PIPE COMPLETO
pipe length 230 mm

for LASCALA EROICA-CARMEN

    

SCALA  C-0278  SCALA  C-0026  

Switches

1319100 BIPOLAR SWITCH 250V 16A 1319104 BLACK BIPOLAR SWITCH 16A 250V
with orange led indicator lamp

mounting hole 22x30 mm

    

SCALA  C-0485  SCALA  C-0474  

1319099 PUSH-BUTTON PANEL 8 BUTTONS

    

SCALA  C-0461   



Suitable for:

pg.   24

Suitable for:

SCALA 

Water level gauges

1520006 LEVEL GLASS ø 11x154 mm SILK-SCREEN PRIN
for ASTORIA CMA RAPALLO

    

SCALA  C-0260   

Water valves

3526699 BALL VALVE ø 1/4" MF

    

SCALA  C-0401   



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	Boiler safety valves
	Booster pumps
	Caps
	Coffee filters
	Coffee groups
	Deflectors
	Drain hoses
	Exchangers
	Filter holder gaskets
	Filter holders
	Filters
	Fittings
	Flowmeters
	Gas valves and accessories
	Gaskets and seals
	Heating elements
	Inlet pipes
	Ironmongery (screws-nuts-washers-etc.)
	Jets / nozzles
	Knobs
	Knobs for filterholder
	Lamps
	Nozzles for coffee groups
	Pins
	Pressure switches
	Regulators and level sensors
	Rotary switches
	Showers for brew group
	Solenoid valves
	Springs
	Steam/water pipes coffee machines
	Switches
	Water level gauges
	Water valves

